DIY Playseat

Adjustable and foldable Playseat




DIY Playseat: Design and measurements

lf¢e——60,0cm———>

Bl

9,0cm -—

119,0cm

A4

- 107,0cm

51,5cm——»

23,0cm

A

¢« 70,0cm

fa——43 0cm———»

[ 1]
1]

23,0cm—»

—37,0cm

e—25,0cm——»

et

23,0cm——»

e—43 Ocm

e— 43 0cm————»|

- 61,0cm—————————————— >

r4—20,0cm——>

fa—43,0cm——»|

—— Lock bold with butterfly bold
—— Holes (to adjust)



DIY Playseat: Materials

Materials

Wooden beams (4x):

Wooden shelf (1x):

45 x 45 x 2400 mm
80 x 23 x1,8 mm

Lock bolt (10x): M8 x 100 mm

Butterfly nut (8x): M8

Bodywork rings (8x): M8

Box hinge (2x) 300 x 40 mm (optional)
Screws (several): 40 and 80 mm

Example materials

https://www.hornbach.nl/shop/KONSTA-Vuren-balk-geschaafd-44-x-44-x-ca-2400-mm/5185884/artikel.html
https://www.hornbach.nl/shop/DURALINE-Wandplank-4xS-XS2-80x23-5-cm-massief-grenen/10176551/artikel.html
https://www.gamma.nl/assortiment/gamma-slotbout-m8-x-100-mm-verzinkt-15-stuks/p/B458216
https://www.gamma.nl/assortiment/gamma-vleugelmoer-m8-verzinkt-4-stuks/p/B458309
https://www.gamma.nl/assortiment/gamma-carrosseriering-m8-verzinkt-20-stuks/p/B458538
https://www.praxis.nl/gereedschap-installatiemateriaal/ijzerwaren/scharnieren/gah-alberts-kistscharnier-geniete-pen-300x40x2-5mm/10022947



DIY Playseat: Instructions (1/3)

[
The bold must be sunken into the beam. n

To do so, drill a wide hole (only 2 mm deep) into the beam at point 2.

v\e
[]
Distance: 4,4 cm o
(thickness of the beam)

\p

j Drill hole and mount bold

119,0cm

L Rounded corner
4 - (to be able to hinge)

Attach, with butterfly nut
on the outside

(2)
||
‘\ 0 Drill holes -/7

g

107,0cm

Drill hole and attach

Drill hole and attach 9

19 -

23,0cm

4752,0cm4>‘

2X 2X 2X



DIY Playseat: Instructions (2/3)

23,0cm———>» 0

«——61,0cm

-«—43,0cm

2X 1X

Put together with stearing
wheel to determine the holes.
Drill also a few extra holes to
adjust for other positions.

icm
7ﬁ|/
I P T
4—23,0cm—m»| £ lock IS
<L 8 o Mount blocks 8
N 9 to shelf Q
3 s '
\ % \/Otherview
EV_
s ] [o]
<4
2X

1X



DIY Playseat: Instructions (3/3)

l—A43 0cm————»|

2X

2X

drill holes
o _

iy

e—23,0cm—»

[
L1

f

/

Can also be mounted upside down
(for different pedal angle)

_

Warning: Use a diffent shelf if your pedals are wider!

Attach to frame

L

Mount pedals

—

9 Attach
hinge

Note: Saw and mount the hinge on one side first, before you saw the other side in half!

LI E—

L1
1]

1l
L]

Attach your pedal plate
and tabletop and your
Playseat is ready for use!



